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Alphabet Test

1. Arrange the following words according to the dictionary ?
[.  Inventory 2 Involuntary
3. Invisible 4 Invariable
5. Investigate (SSC CGL 1% Sit. 2010)
@@ 4,2,5,3,1 (b) 4,5,1,3,2
© 25413 d) 4,1,5,3,2

2 Arrange the following in the meaningful/logical order :

[ Exhaust 2 Night
3. Day 4. Sleep
5. Work (SSC CGL 15! Sit. 2010)

@@ 1,3,52,4 (b) 3,5,1,4,2
(©) 3,51,2,4 d) 3,5,2,1,4

3. Which one of the given responses would be a meaningful
order of'the following words ?  (SSC CGL 1% Sit. 2010)

A. Family B, Community
C.  Member D. Locality
E Country

(@ C,A,D,B,E (b) C,A,B,D,E
(¢) GA,BED (d) C,A.D,E,B
Arrange the following words according to the dictionary :

A. Tortoise B Toronto
C  Torped D. Torus
E Torsel (SSC CGL 2"4 Sit. 2010)

@@ B,E,C,A,D (b) B,E,C,D,A
() B,C,E,A,D (d) B,C,E,D,A
A word/set of letters given in capital letters is followed by
four answer words. Out of these only one cannot be formed
by using the letters of the given word/set of letters. Find

out that word : (SSC CGL 2"4 Sit. 2010)
INDETERMINATE

(a) DETERMINE (b) RETINUE

(c) REMINDER (d) RETINA

A group ofalphabets are given with each being assigned a
numerical code. These have to be unscrambled into a
meaningful word and the correct code so obtained may be
indicated from the given responses ?

RAHKS (SSC CGL 2" Sit. 2010)
12345

(@) 51234 (b) 54213

(c) 53214 d) 53124

DIRECTIONS (Qs. 7-8): Whichone of the given responses would
be a meaningful descending order of the following?

10.

13.

14.

(@ 5,4,3,1,2 (b) 5,1,4,2,3

() 4,51,3,2 d) 3,4,2,5,1

1. Dissident 2. Dissolve

3. Dissent 4. Dissolute

5. Dissolution (SSC CGL 15 Sit. 2011)
@ 3,1,4,5,2 (b) 3,2,1,4,5

(c) 3,1,4,2,5 d) 3,2,4,5,1

From the given alternative words, select the word which
cannot be formed using the letters of the given word:

'CONCENTRATION' (SSC CGL 15 Sit. 2011)
(a) CONCERN (b) NATION
(c) TRAIN (d) CENTRE

From the given alternative words, select the word which
can be formed using the letters of the given word:
'DETERMINATION' (SSC CGL 1% Sit. 2011)
(a) DECLARATION (b) NATIONAL

(c) TERMINATED (d) DEVIATION
Which one of the given responses would be a meaningful
order of the following? (SSC CGL 15t Sit. 2011)

l.  Sentence 2  Word
3. Chapter 4. Phrase
5. Paragraph

(@) 4,3,1,2,5 ) 2,3,5,4,1
(¢) 3,51,4,2 d) 1,3,2,4,5

Arrange the following words as per order in the dictionary:
. Inhabit 2 Ingenious

3. Inherit 4. Influence

S.  Infatuation (SSC CGL 1% Sit. 2011)
@@ 1,2,3,4,5 (b) 5,4,1,2,3

© 452,13 d) 54,2,1,3

From the given alternative words, select the word which
cannot be formed using the letters of the given word:

MISFORTUNE (SSC CGL 1% Sit. 2011)
(@) FORT (b) TURN
(c) SOFT d) ROAM

From the given alternative words, select the word which
can be formed using the letters of the given word:

STRANGULATION (SSC CGL 1% Sit. 2011)
{a) TRIANGLE (b) GARLAND
{c) ROASTING (d) TRAUMA

(SSC CGL 1% Sit. 2011)
7. L Major 2 Captain
3. Colonel 4 Brigadier
5. Lt General
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DIRECTIONS (Qs. 15-16): Which one of the given responses
would be a meaningful order of the following?
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(SSC CHSL 1%t Sit. 2012)
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15.

16.

1. curd 2 grass

3. butter 4 milk 5 cow
(a) 5.2,3,4,1 (b) 4,2,5,3,1

() 2,5.4,3,1 (d) 52413

1. rat 2 eagle

3. snake 4 grain

5 field

(a) 5.4,1,3,2 (b) 4,3,2,5,1

() 5,1,3,2,4 (d) 5,3,2.4,1

DIRECTIONS (Qs. 17-18) : From the given alternatives select the
word which cannot be formed using the letters of the given word.

17.

18.

19.

21.

23,

24,

(SSC CHSL 2012)
TEACHER
(a) REACH (b) EATER
(c) EARTH (d) TRACTOR
REASONABLE
(a) NOBLE (b) BONES
(¢) BRAIN (d) ARSON

Identity the hidden name of the geometrical figure in the
given word from among the answer words whose letters are
given in jumbled form.

SPIRITUAL (SSC Sub. Ins. 2012)
(a) RISPAL (b) RITUAL
(¢) SPIRIT (d) RIPITU
Which will appear third in the dictionary?
(SSC Sub. Ins. 2012)

(a) Monarchy (b) Monastic
(c) Monetary (d) Moneyed
Arrange the following words according to dictionary order:

1.  Banquet 2. Bangle

3. Bandage 4  Bantam

5. Bank (SSC Sub. Ins. 2012)
(@) 3,2,4,5,1 (b) 3,5,2,1,4

() 3,2,1,5,4 (d) 3,2,5,1.4

In this question, from the given alternatives select the word
which cannot be formed by using the letters of the given

word. (SSC CGL 1% Sit. 2012)
APPROPRIATE

(a) PIRATE (b) APPROVE

(c) PROPER (d) RAPPORT

If the first four letters of a term HIPPNOWADIASM are
written in reverse order, the next five letters are written
without changing their order and then, the remaining letters
are again written in reverse order, then which letter is in the
middle of the word? (SSC CGL 15t Sit. 2012)
(a) O (b) W

() A d 1

In the following letter series how many times do PQR occur
in such away that Q is in the middle of P and R.
QMPNPQRROPQNOPPQRPMQROPQRPPR

RPQRP (SSC CGL 1% Sit. 2012)
@ 5 b) 6
() 4 (@ 3
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DIRECTIONS: Inquestionbelow from the given alternatives select
the word which cannot be formed using the letters of the given word.

25,

26.

27.

28.

29,

3L

32

‘CONSTITUTIONAL (SSC CGL 2012)
(a) CONSULT (b) LOCATION
(c) TUTION (d) TALENT

In the following list of English alphabets, one alphabet has
not been used. Identify the same.
XNFAPSRWLTMDEXMGB
CXQJLOPVRCQIZOHSG
ODIPTSMRABEFGNUNE

(a) V (b) 1 (SSCCGL 15t8it. 2012)
(c) K (d I

IfAlphabets are serially numberd, one of the answers given
below has not a meaningful word hidden in it. Identify the
answer. (SSC CGL 2M 8it. 2012)
(a) 5,18,5,8,1,3,520 (b) 5.1,3,5,20,8,18

(c) 18,5,8,1,3,5,20 (d) 20,5,8,1,3,5,18

Which word will appear last in the dictionary?

(SSC CGL 2" Sit. 2012)
(a) laugh (b) latch
(c) laurels (d) latitude
Arrange the given words in a meaningful order:
1. INFANT 2. ADOLESCENT
3. CHILLD 4. OLD
5. ADULT (SSCCGL 2012)
(a) 3,1,2,4,5 (b) 1,3,2,5.4
() 3,2,4,5,1 (d 5.4,3,2,1

Arrange the following words in their ascending order, as in

a dictionary: (SSC CGL 2M Sit. 2012)
1. Pick 2. Pith

3. Pile 4. Perk

5. Pour

(a) 4,1,2,3,5 (b) 4,1,3,2,5

() 4,3,2,1,5 (d) 5,4.3.2,1

Arrange the following words in their ascending order:

1. Millenium 2. Diamond Jubilee

3. Silver Jubilee 4. Centenary

5. Golden Jubilee (SSC CGL 2M Sit. 2012)

(a) 2,3,5,4,1 (b) 2,5.3,1,4

(c) 3,5,2,4,1 (d) 2,3,5,1,4

Arrange the following words in their descending order:

1. Weekly 2. Bi-annual

3. Fortnightly 4. Monthly

5. Annual (SSC CGL 2" Sit. 2012)
(@ 1,3,4,2,5 (b) 2,5.4,1,3

(c) 4.,1.2,3,5 (d) 5.2.4.3.1

DIRECTION (Q. 33) : From the given alternatives select the

word which cannot be formed using the letters of the given word.

33.

www.jkchrome.com

CONTENTION (SSC CGL 2" Sit. 2012)
(a) TONIC (b) NOTE
(c) NATION (d) NOTION
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3s.

37.

38.

39.

41

Arrange the following words as per order in the dictionary.

(i) Forge (i) Forget
(i) Forgo (iv) Forgive
(v) Format (SSC Sub. Ins. 2013)

(@ (v), (i), (iv) , (iii), (1)

(b) (), (iv), (i), (i), (V)

(c) (i), (iv), (v), (i), (1)

(d) (i), (i), (iv), (iii), (v)

Which one of the given responses would be a meaningful
order of the following words? .

(i) Police (i)) Punishment

(iti) Crime (iv) Judge

(v) Judgement (SSC Sub. Ins. 2013)
@ (@, (i), (iv), (i), (v)

(b) (v), (), (iid), (i), (1)

(c) (i), (i), (iv), (v)- (i)

(d) (i), (i), (i1), (iv), (V)

A group of alphabets are given with each being assigned
anumber. These have to be unscrambled into a meaningful
word and correct order of letters may be indicated from
the given responses. (SSC Sub. Ins. 2013)

E R D 1 S P
1) | @ | G | Gv) [ V) | (vD)

@  (v), (iv), (vi), (1), (ii), (iii)

(b)  (vi). (v), (iv), (i), (iii), (i)

(©) (i), (iid), (iv), (v), (vi), (i)

(d) (v), (vi), (iv), (iid), (i), (ii)

From the given alternatives select the word which cannot
be formed using the letters of the given word.

Encouragement (SSC Sub. Ins. 2013)

(a) game (b) tear

(c) neck- (d) meat

Arrange the following words as per order in the dictionary.
(SSC Multitasking 2013)

1.  Obscure 2 Objective

3. Objection 4 Obligation

5. Oblivion

(a) 3.2.4,5,1 (b) 3.2,5,4,1

(¢) 3.2,5,1,4 (d) 5.2,1,3.4

From the given alternative words, select the word which
cannot be formed using the letters of the given word:

DISINTEGRATION (SSC Multitasking 2013)
(a) SIGN (b) SIGNATURE

(c) INTERN (d) SINGER

Arrange the following words according to English
Dictionary: (SSC CHSL 2013)
1.  Bound 2 Bonus

3. Bunch 4 Board

(@ 42,13 (b) 4,3,2,1

() 1.4.23 (d 2,431

In the following letter series, how many times does 'P' occur
in such a way that after 'P', N' O should occur?
APNQPNOSPTOZPNOYMPNO

(SSC CHSL 2013)
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42,

43.

(a) 2 (b) 5

(c) 4 (d 3

From the given alternatives select the word which cannot
be formed using the letters of tne given word.

SIGNATURE (SSC CHSL 2013)
(a) SIGHT () GAIN
(c) NATURE (d) GATE

From the given alternatives select the word which can be
formed using the letters of the given word.

DICTIONARY (SSC CHSL 2013)
(a) BINARY (b) DAIRY
(c) NATION (d) ADDITION

Which one of the given responses would be a meaningful

order of the following ? (SSC CHSL 2013)
1. Plant . Fruit

3. Seed 4. Flower

(@) 3,1,4,2 (b) 3,2,1.4

(c) 3,2, 4,1 (d) 3,1,2,4

DIRECTIONS (Qs. 45-47): In gquestions, from the given
alternatives select the word which cannot be formed using the
letters of the given word.

45.

46.

47.

(SSC CGL 15t 8it. 2013)

DISAPPOINTMENT
(a) POINTER (b) OINTMENT
(c) DISPOINT (d) NOTPAD
DECOMPOSITION

(a) COMPOSE (b) ECONOMIST
(¢c) POSITION (d) DOCTOR
INTELLIGENCE

(a) NEGLECT (b) GENTLE

(c) INCITE (d) CANCEL

Which one of the given responses would be a meaningful
order of the following words in ascending order?
1. Accommodation 2 Perception

3. Scheme formation 4.  Assimilation

5. Sensation (SSC CGL 15t Sit. 2013)
(a) 1,2,3,5.4 (b) 5.2,3.4,1

(c) 51,423 (d) 5,2,4,3,1

Which of the given responses would be a meaningful order
ofthe following starting from the inner layer?
1.  Hydrosphere 2. Atmosphere
3. Biosphere 4. Lithosphere

(SSC CGL 1% Sit. 2013)
(a) 4,1,3,2 (b) 2,4,3,1
(c) 3,1.2.4 (d) 1,2,3.4

DIRECTION (Qs. 50-52): In question, from the given alternative
words, select the word which cannot be formed using the letters
of the given words.

50.

51

www.jkchrome.com

(SSC CGL 2" Sit. 2013)

DISTANCE

(a) DANCE (b) STAND
(c) SANE (d) TEASE

RESURRECTIONIST

(a) TOURIST (b) NOISE

(c) SORCERER (d) TENDER
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32, COMMERCIALISM

(a) CROME (b) LANCER
(¢) MISER (d) OSCAR
53.  Which one of the given responses would be a meaningful
order of the following? (SSC CGL 2MSit. 2013)
1. Implementation
2. Conceptual Modelling
3. Requirements Analysis
4. Logical Modelling
5. Physical Model
6. Schema Refinement

(a) 1,3,2,6,5.4 (b) 3,2,5,4,6,1
© 3.2.1,4,6,5 @ 3,2,4,6,51

DIRECTIONS (Qs. 54-56): In questions, from the given
alternatives select the word which cannot be formed using the
letters of the given word.

(SSC CGL 2" Sit. 2013)

54. CONSTITUTIONAL

(@) TALENT (b) LOCATION

(c) CONSULT (d) TUITION
55.  MANUSCRIPT

(@ SMART (b) RUSTIC

(c) MASTER (d) PRIMUS
56. SEGREGATION

(@) GREAT (d) GREETINGS

(c) SEATING (d) NATION

57. If the first and second letters in the word
‘COMMUNICATIONS’ were interchanged, also the third
and the fourth letters, the 5th and 6th letters and so on,
which letter would be the tenth letter counting from your

right? (SSC CGL 2" Sit. 2013)
(a) A b T
(e N d U

DIRECTIONS (Qs. 58-60) From the given alternatives select
the word which cannot be formed using the letters of the given
word.

(SSC CGL 2"4Sit. 2013)
58. INVESTIGATION

(a) INSTIGATION  (b) GESTATION

(c) VEST (d) STIGMA
59.  SANCTION
(@) ACTION (b) NATION
(c) NOTION (d) NION
60. RESEARCH
(a) SEARCH (b) REACH
(c) HEAR (d) READ

DIRECTIONS (61-62): In each of the following questions, from
the given alternative words, select the word which cannot be
formed using the letters of the given word.

(SSC CGL 2"Sit. 2013)

61. HETEROGENOUS
() REGENT
(c) STORE

(b) GENERATE
(d) ROUTE

4 www.jkchrome.com
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62. UNEQUIVOCAL
(a) EQUAL (b) VOCAL
(©) QUAINT (d) NAIVE

DIRECTIONS (QS. 63-64) : In questions, which one of the given

responses would be a meaningful order of the following.

(SSC Stenographer 2013)
63. 1. Adult 2. Oldage
3. Adolescent 4. Childhood
5. Infant
(a) 5,4,3.1,2 (b) 1,5,4,3,2
() 1,2,3,4,5 (d) 3,4,5,1,2
4. 1. Son 2. Husband
. Grandfather 4. Brother
5. Father
(a) 1,5,2,4,3 (b) 1,2,3,4,5
(¢) 1,4,2,53 (d) 1,2,4,53
65. Arrange the following words as per order in the dictionary :
(SSC Stenographer 2013)
1.  Command 2. Commit
3. Connect 4.  Conceive
5. Conduct 6. Commerce
(a) 621543 (b) 612453
() 162453 (d 126534

DIRECTIONS (Qs. 66-67) : In questions, from the given
alternatives select the word which cannot formed using the letters
of the given word.

(SSC Stenographer 2013)
66. MISAPPREHENSION
(a) RESPONSE (b) HAPPINESS
(c) PERSON (d) SENSES
67. CONCEPTUALIZATION
(a) ACTUAL (b) PETAL
(c) PETROL (d) TOTAL

68. From the given alternatives select the word which can be
formed using the letters given in the word.
ULTRANATIONALISM (SSC Sub. Ins. 2014)
(a) ULTRAMONTANE
(b) ULTRAMODERN
(c) ULTRAIST
(d) ULULATE

69. From the given alternatives select the word which cannot
be formed using the letters of the given word.

LEGALIZATION (SSC Sub. Ins. 2014)
(a) ALERT (b) ALEGATION
(c) GALLANT (d) NATAL

70.  From the given alternatives select the word which cannot
be formed using the letters of the given word.

DEPARTMENT (SSC Multitasking 2014)
(a) PEN (b) PARK
(c) PART (d) DEAR

71.  Which one of the given responses would be meaningful
order of the following in ascending order?

(SSC Multitasking 2014)
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1. Phrase 2 Alphabet
3. Sentence 4  Word

(a) 2,1,4,3 (b) 1,2,3,4
() 2,4,1,3 (d)y 2,4,3,1

DIRECTIONS (Qs. 72-74) : In Question, which one of the given
responses would be a meaningful order of the following ?

72

73.

74.

75.

76.

7.

78.

(SSC CHSL 2014)
L. Curd 2 Mik
3. Buttermilk 4 Cow
5. Ghee 6. Butter
(@ 2,564,113 (b) 4.6,2,1,3,5
() 4,2,1,3,6,5 (d) 2,6,4,5,3,1
1.  Reading 2 Listening
3. Writing 4. Speaking
(@ 42,13 (b) 2,4,3,1
(c) 2,413 (d) 4.,3,2,1
1. Adulthood 2 Infancy
3. Childhood 4 Adolescence
(@) 1,3,4,2 (b) 2,3,4,1
(c) 2,431 (d 1,2,3,4

From the given alternatives select the word which cannot
be formed using the letters of the given word :

INFLATIONARY (SSC CHSL 2014)
@ FLAIR (b) FAULTY
(c) NATIONAL (d) RATION

Which one of the given responses would be a meaningful
order of the following ? (SSC CGL 15 Sit. 2014)

1. apartment 2 town

3. street 4. building
5. complex

(a) 1,5,4,3,2 (b) 4,5,3,2,1
() 2,1,3,4,5 (d 1,4,5,3,2

If the following words are arranged in reverse dictionary
order, which word comes second ?

(SSC CGL 15 Sit. 2014)
(a) Explosion (b) Express
(c) Exploit (d) Expulse
A group of alphabets are given with each being assigned a
number. These have to be unscrambled into a meaningful
word and correct order of letters may be indicated from the
given responses.

TMHREO
543210 (SSC CGL 1% Sit. 2014)
(@) 025314 (b) 315402
(©) 405312 (d) 504231

From the given alternative words, select the word which
cannot be formed using the letters of the given word :

TRIVANDRUM (SSC CGL 2™ Sit. 2014)
(@) RAIN (b) DRUM
() TRAIN (d) DRUK

How many meaningful English words can be made with the

letters ' OEHM ' using each letter only once in each word ?
(SSC CGL 2™ Sit. 2014)

(b) THREE

(d) ONE

(@) FOUR
© TWO
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81.

83.

85.

From the given alternative words, select the word which
cannot be formed using the letters of the given word:

CUMBERSOME (SSC CGL 2™ Sit. 2014)
(a) MOUSE (b) SOBER
(c) ROME (d) MERCY

Name a single letter, which can be prefixed to the following

words in order to obtain entirely new words ?

TILL TABLE PILE TAB PRING (SSC CGL 2™ Sit. 2014)

@@ s (b) B

(c) H d C

Unscramble the following letters to frame a meaningful word.

Then find out the correct numerical position of the letters :
(SSC CGL 2" Sit. 2014)

B CUSMETLIZ RNA

1 2 3 4 5 6 7 8 9 10

(@) 61432587910 (b) 31571042698

(c) 39428105176 (d) 21346897510

Using the following code and key decode the given coded
word: (SSC CGL 2" Sit. 2014)
Code: L X P ZJ Y QMNB

Key: b a e s pr h 1 g t
Codedword: ZBY XMNQB

(a) height (b) struggle
(c) straight (d) strength
Which one of the given responses would be a meaningful
order ofthe following ? (SSC CGL 2" Sit. 2014)

1. Elephant 2. Cat

3. Mosquito 4. Tiger

5. Whale

(a) 5,3,1,2,4 (b) 1,3,5,4,2

(C) 3,2,4,1,5 (d) 2,59134’3

DIRECTIONS (Q. Nos. 86-87) : Which one of the given responses
would be a meaningful order of the following?

86.

87.

88.

www.jkchrome.com

(SSC Stenographer 2014)
(1) Classroom (2) Desk
(3) School (4) Community
(5) Drawer

@ @.(2.03)1).05) b)
© @.3).(1)2.05) @

(3).(2).®).(5).(1)
(1,(2),(3).).(5)

(1) Gold (2) Ornaments
3) Ore (4) Mine
(5) Process

@ (4,3)(5)(1),.2) b) (4,03).05,2),(1)
© (3.(4.05)(1).2) @ @).(1).05).4).0)
Given below are four words. Putting the letters in a different
order, a new word is formed from each of those words.
Identify the word in which there is an addition of a letter,

while compared with the original word.
(SSC Stenographer 2014)
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89.

(1) Shrub (2) Bleat
(3) Meats (4) Votes
(a) Table (b) Stoves
(c) Brush (d) Steam

Arrange the following according to Dictionary.
(SSC Sub. Ins. 2015)

1. Fenestration 2 Feather
3.  Feed head 4. Feature 5. Feminine
(a) 42315 (b) 24351
(¢) 24153 (dy 42351

Which one of the given responses would be a meaningful
order of the following? (SSC Sub. Ins. 2015)

L. Rivulet 2 Ocean

3. Tributary 4. River

5. Sea 6. Ran

(a) 653124 (b) 561324
() 641352 (d) 613452

DIRECTIONS (Qs. 91-92) : In questions below, from the given
alternative words, select the word which cannet be formed using
the letters of the given word:

91.

92.

93.

95.

(SSC Sub. Ins. 2015)

ADMINISTRATION

(a) Station (b) Mind
(c) Ration (d) Minister
CHARACTER

(a) Tracer (b) Hearty
(c) Crate (d) Charter

In the following letter series how many Ms are followed by
N, but not preceded by N?
NMWVMNMVWNMNMMNWVMN (SSC Sub. Ins. 2015)
(a) 1 (b)y 2
() 3 (d) 4
Which one of the given responses would be a meaningful
order ofthe following ?
1. Orange 2. Indigo 3. Red 4. Blue 5. Green 6. Yellow 7. Violet
(SSC Sub. Ins. 2015)

(a) 7.2.4,5,6,1,3 (b) 7.2,4,6,5,1,3
() 7.2,6,4,51,3 (d) 7.2,6,4 1,53
Arrange the following words as per order in the dictionary.
1. Forecast 2. Forget 3. Foreign 4. Forsook 5. Force

(SSC Sub. Ins. 2015)
(b) 5,1,3,2,4
d 5,1,2,3,4

@@ 3,51,2,4
(© 5,1,3,4,2

DIRECTIONS (Qs. 96-97): In question arrange the following

words as per order in the dictionary.

96.

(SSC CHSL 2015)
1.  Necessary 2 Navigate
3. Nautical 4 Naval
(a) 3421 (b) 3241
(© 2431 @ 4321
l.  Range 2. Rain
3 Renn 4 Ranger
(a) 2341 (b) 2431
() 2,143 (d)y 2431
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101.

102.

103.

Unscramble the following letters to frame a meaningful word.
Then find out the correct numerical position of the letters.

OTYSRHI

1234567 (SSC CHSL 2015)
(a) 6241375 (b) 6452173
(€) 6347125 (d) 6742153

Ifit is possible to form a word with the first, fourth, seventh
and eleventh letters in the word 'SUPERFLUQUS, write the

first letters of that word. (SSC CHSL 2015)
@ O (b) E
(© S (d L

Which one of the given responses would be a meaningful

order of the following? (SSC CHSL 2015)
1. India 2. Bangalore

3. Asia 4. Karnataka

(a) 3,1,4,2 (b) 3,1,2,4

(¢ 1,2,3.4 (d) 3,4,2,1

From the given alternative words, select the word which
cannot be formed using the letters of the given word.

HARBINGER (SSC CHSL 2015)
(a) GARBAGE (b) RANGER
(c) BARRING (d) GARNER

From the given alternative words, select the word which be
formed using the letters of the given word.

ENDEARMENT (SSC CHSL 2015)
(a) TEMPER (b) MEANS
(c) TENDER (d) TENT

What is the best way to order the progression in Hardware ?
1. Silicon chips 2. Transistors

3. Vacuum tube 4. Integrated circuits.

(SSC CHSL 2015)
(a) 3.4,1,2 (b) 4,2.3,1
(c) 4,1,3,2 (d) 3,2,4.1

DIRECTIONS (Qs. 104-105): Arrange the following words as
per order in the dictionary.

104.

105.

106.
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(SSC CHSL 2015)
1. Voracious 2. Voucher
3. Vortex 4. Voluntary
(a) 2.4,1,3 (b) 4,1,3,2
(¢) 1,4,2,3 (d 3,1,4,2
1.  Absolute 2. Abrasive
3. Absorption 4. Abundance
5. Abiogenesis
(a) 2,5,1,3.4 (b) 3,4.5,2,1
(¢) 5,2,3,1,4 (dy 5,2,1,3,4

From the given alternative words, select the word which
cannot be formed using the letters of the given word :
Given : IMPASSIONABLE (SSC CGL 1% 8it. 2015)
(a) IMPASSABLE  (b) IMPOSSIBLE

(¢) IMPASSIVE (d) IMPASSION
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107.

108.

110.

111

112.

113.

114.

115.

116.

Only one meaningful word can be formed by rearranging
the letter of the given jumbled word. Find out that word.

Given : MUSPOPAPOTIH (SSC CGL 15t Sit. 2015)

(a) METAMORPHIC (b) PHILANTHROPIST

(c) HIPPOCAMPUS (d) HIPPOPOTAMUS

If the words are organised in reverse order of what they

appear in dictionary, which word will comein the third place.
(SSC CGL 1 Sit. 2015)

(a) Occulist (b) Odium

(c) Odious (d) Ordeum

Which of'the following jumbled words is not an animal ?
(SSC CGL 2™ Sit. 2015)

(a) LATHPEEN (b) ZLARID

(c) FEFEOC (d) TAR

Arrange the following words as per order in the dictionary
(1) Hale (2) Hake

(3) Halt (4) Hamlet

(5) Ham (SSC CGL 2™ Sit. 2015)
(@) 1,3,5,2.4 (b) 2,1.3,5,4

© 2,1,4,3,5 (d) 2,3,5,4,1

From the given alternative words, select the word which
cannot be formed using the letters of the given word.

"BOOKBINDING' (SSC CGL 2" Sit. 2015)
(a) BINDING (b) DOING
() DIGGING (d) DINING

Amongst the given responses choose the meaningful
logical series. (SSC CGL 1% Sit. 2016)
1.  College 2 Infant

3. Chid 4. School

5. Youth

(@) 243,15 (b) 234,15

(c) 24351 (d) 23451

Select the word which cannot be formed using the letters
of the given word REJUVENATION

(SSC CGL 15 Sit. 2016)
(a) JUTE (b) NATION
(c) REVISION (d) NATIVE
Arrange the following words as per order in the dictionary:
1. Zeal 2.Zebra 3.Zygote 4.Zinc 5.Zest

(SSC CGL 15 Sit. 2016)
(a) 12534 (b) 12543
(c) 15243 (d) 15234
From the given alternative words, select the word which
cannot be formed using the letters of the given word:

CONCENTRATION (SSC CGL 15t Sit. 2016)
(a) CONCERN (b) CONTAINER

(¢) CONCERT (d) CENTRAL

Arrange the following words as per order in the dictionary
1. Direction 2 Directed

3. Director 4. Directing

(SSC CGL 2™ Sit. 2016)
(b) 2,4,1.3
(d) 4,1,2,3

(@)
(c)

1,4,3,2
4,2,3,1
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117.

118.

119.

120.

121.

122,

123.

124.

125.

From the given alternative words, select the word which
cannot be formed using the letters of the given word:

ADMISSION (SSC CGL 2" Sit. 2016)
(a) MISSION (b) DISMISS

(c) MASONS (d) NOMADS

Arrange the following words as per order in the dictionary
1.  Ambitions 2. Ambiguous

3. Ambiguity 4. Animation

5. Animal (SSC CGL 2" Sit. 2016)
(a) 3.2.4.1,5 (b) 3,2,5.4,1

(c) 3,2,1,5.4 (d) 3.2,4.5,1

From the given alternative words , select the word which
cannot be formed using the letters of the given word:
INTELLIGENCE (SSC CGL 2" Sit. 2016)

(a) CANCEL (b) NEGLECT
(c) GENTLE (d) INCITE
Arrange the following words according to the dictionary
order : (SSC Stenographer 2016)
a. extol b. exinct
€. extra d.  extort
(a) d,c,a,b (b) a,d,b,c
(c) a,b,c,d (d) b,a,d,c
Which will appear fourth in the dictionary ?
(SSC Stenographer 2016)

(a) deterioration (b) determination

(c) degrade (d) density

If the following words are arranged in a dictionary order,
which will be 3™ word ?

Amphibian, Amorphous, Ambiguous, Ambidextrous,
Ambivalent (SSC Stenographer 2016)
(a) Ambiguous (b) Ambivalent

(¢) Amphibian (d) Amorphous

From the given alternative words, select the word which
can be formed using the letters of the given word.

Measurement (SSC Stenographer 2016)
(a) Summit (b) Assure
(c) Master (d) Mantle

Unscramble the following letters to frame a meaningful word,
then find out the correct numerical position of the letters :

INRDTPEES

123456789 (SSC Stenographer 2016)
(a) 735124389 (b) 756432189
(c) 639185251 (d) 637914825

Which one of the given responses would be a meaningful

order of the following? (SSC SI 2016)
1. estimate 2. contract

3. concept 4. plan

5. execute

(@) 1,4,3,5,2 (b) 5,2,4,3,1

() 3,4,1,2,5 (d) 3,1,2,4,5

DIRECTIONS (Qs. 126-127) : In the following questions, from

the given alternative words, select the word which cannot be

formed using the letters of the given word.

(SSC SI 2016)
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126.

127.

128.

129.

130.

131.

132

133.

PERAMBULATOR
(1) MARBLE
(c) RAMBLE
ORGANISATION
(1) NATION

(c) ORGANISE

LABOUR
RAMPANT

®)
@

ORGAN
ORATION

®)
(Y

Grouping of words are given. Choose the next words in the
series from the given options.

AFGHAN, INDEFINITLY, SYNOPSIS, STUPENDOUS,

BURST
(a) RESCRIPT
(c) HUACKER

(b) COMPANION
(d) GLACIAL

Arrange the given words in the sequence in which they

occur in the dictionary.
(1) Ropped

(3) Roasted

(5) Roller

(a) 35412

(c) 34512

(SSCCGL 2017)
(2) Roster
(4) Road

(b) 45312
(d) 43512

In the following question, from the given alternative words,
select the word which cannot be formed using the letters of

the given word.

Suspensefulness
(a) Sense
(¢) Useful

(SSCCGL2017)

(b) Fuels
(d) Fullness

Arrange the given words in the sequence in which they

occur in the dictionary.
1.  Pragmatic

3. Pastel

5. Pebble

(a) 43521

(c) 34512

(SSCCGL 2017)
2. Protect
4. Postal

(b) 35412
(d) 43512

In the following question, from the given alternative words,
select the word which cannot be formed using the letters of

the given word. (SSCCGL2017)
Herringbone

(a) Biner (b) None

(c) Bane (d) Hinge

Arrange the given words in the sequence in which they
occur in the dictionary. (SSCCGL2017)
(1) Ball (2) Balanced

(3) Balls (4) Balance

(5) Balancing

(a) 24135 (b) 42135

(c) 42513 (d) 54213

134. Inthe falibwihg queslibn, from the gi'ven alternative words,
select the word which cannot be formed using the letters of

135.

the given word.
UNIFORMITY
(@) ANNUITY
(c) MINT

(SSCCGL2017)

(b) FORUM
(d) UNIFORM

Arrange the given words in the sequence in which they

occur in the dictionary.
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(S§SCCGL2017)
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136.

137.

138.

139.

I.  Storm 2. Strap
3. Strangle 4. Stamped
5. Satire

(a) 51432 (b) 51342
(c) 54132 (d) 53412

In the following question, from the given alternative words,
select the word which cannot be formed using the letters of

the given word. (SSCCGL2017)
Biological

(a) Logic (b) Globe

(c) Bail (d) Bil

Arrange the given words in the sequence in which they occur
in the dictionary. (SSC CHSL 2017)

(i) Treadmill

(i) Treason

(iii) Treacherous
(iv) Tread

(@) (i, (iii), (iv). ()
(c) (i), (iv), (i), (ii)

(b) (i), (iv). (i), i)
) (), (i, i), iv)

Which one of the given responses would be a meaningful
order of the following? (SSCMTS 2017)
I.  Cutting 2. Dish

3. Vegetable 4. Market

5. Cooking.

(a) 1,2,4,5,3 (b) 5,3,2,1,4

(c) 3,2,5,1.,4 (d 4,3,1,5,2

Out of the four words given, choose the word which cannot
be formed using the letters of the following word.

TRANSLATION (SSCMTS 2017)
(a) RATIO (b) NATION
(¢) TRANSMIT (d) TRANSIT

DIRECTIONS (Qs. 140-141) : Arrange the given words in the

sequence in which they occur in the dictionary.

140.

141.

142.

143.

(SSC Sub. Ins. 2017)

1. Ale 2. Align

3. Amend 4. Anatomy
5. Alpine

(a) 51342 (b) 35412

(c) 12354 (d) 12534

1.  Den 2. Dragon
3. Drop 4. Desk

5. Doom

(a) 54312 (b) 14523

(c) 31245 (d) 13245

In the following question, select the word which cannot be

formed using the letters of the given word.

Instructor (SSC Sub. Ins. 2017)
(a) Rust (b) Tort
(c) Stop (d) Stint

In the following question, Select the word which cannot be
formed using the letters of the given word.

Encourage (SSC Sub. Ins. 2017)
(a) Courage (b) Court
(c) Race (d) Encore
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DIRECTION (Q. 144) : Which word will appear fouth when
arranged in order of dictionary?

(SSC Steno. 2017)
144. 1. Dictation 2 Dictionary 153.
3. Dimple 4 Dinner
5. Deputy
(a) Dinner (b) Dimple
(¢) Dictation (d) Dictionary
DIRECTION (Q. 145) : Arrange the given words in the sequence
in which they occur in the dictionary.
(SSC Steno. 2017)
145. 1. Slowly 2 Slam 154,
3. Slump 4 Sledge
5. State
(a) 25431 (b) 52413
(c) 25413 (d) 52431
146. Which word will appear second when arranged in order of
dictionary? (SSC Steno. 2017)
(a) Boost (b) Bonkers 155.
(c) Bonjour (d) Bannet
147. Which word will appear last when arranged in order of
dictionary? (SSC Steno. 2017)
(a) Heritage (b) Hermitage
(c) Healing (d) Heap
DIRECTIONS (Q. 148—149) : In the following question, select the
word which cannot be formed using the letters of the given word.
148. FUNDAMENTALY (SSC Steno.2017)  156.
(a) SUNDAY (b) MEANT
(c) FUNNY (d) TUNED
149. DISTRIBUTION
(a) BUTTON (b) DISTURB
(c) BRITAIN (d) BURNT
150. Arrange the following words in a logical and meaningful
order. (SSCCGL 2018)
(1) Egypt (2) Africa
(3) GreatPyramid 4) World 157.
(5) Gim
(@) 3.5.2,1,4 (b) 3,5,1,2,4
(¢) 5,3.1,2,4 (d) 5,3,1,4,2
151. Arrange the following words in a logical and meaningful
order. (SSC CGL 2018)
L. Wrist 2 Nails
3. Shoulder 4. Elbow
5.  Palm 6. Fingers 158.
(a) 3.5.1,4,6,2 (b) 3.4,1,5.6,2
() 3.4,1,2,5,6 (d) 3,1,4,2,5,6
152. Arrange the following words in a logical and meaningful
order. (SSC CHSL 2018)
1.  Summer
2. Winter
3. Monsoon 159.
4 Spring
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5. Autumn

(a) 4,1,53.,2 (b) 4,3,1,5,2

(c) 4,1,3,5,2 (d 453,12

Select the correct alternative to indicate the arrangement of

the following words in a logical and meaningful order.
(SSC Sub. Ins. 2018)

Diagnosis 2 Recovery
Pain 4. Treatment

. Hospital
(@) 5,3,1,4,2 (b) 3,5 1,42
() 5,1,4,1,2 (d 3,54,1,2

Arrange the following words in the order in which they
appear in an English dictionary. (SSC CGL 2019-20)

1. Rightly 2 Rigidly
3. Righteous 4. Rigour
5. Rights
(@) 3,1,5,2,4 (b) 3,1,5.4,2
() 1,3,5,2,4 (d 3,5 1,42
Arrange the given words in a logical and meaningful
sequence.
1. Shoulder 2 Thigh
3. Stomach 4 Chest
5. Face 6. Neck
(SSC CHSL 2019-20)
(a) 5,6,1,4,32 (b) 2,4,6,1,3,2
(c) 5,6,3,41,2 (d) 5,6,1,2,3.4

Select the correct option that indicates the arrangement of
the given words in the order in which they appear in an

English dictionary.
1. Terminal 2 Terminology
3. Temperature 4. Tamarind
5. Tame 6. Tertiary
(SSCCGL 2020-21)
(a) 4,5,3,2,1,6 (b) 4,5.3,1,2,6
() 4,5,1,3,2,6 (d 4,5.3,1,6,2

Select the correct option that indicates the arrangement of
the given words in the order in which they appear in an

English dictionary. (SSC CHSL 2020-21)
I.  Industry 2 Indent

3. Indoor 4 Indolent

5. Index

(@) 1.2,3,5.4 (b) 2,4,5,3,1

() 2,5,4,3,1 (d 2,1.3,5,4

Select the correct option that indicates the arrangement of
the following words in a logical and meaningful order.

1.  Drivevehicle 2 Unlock vehicle

3. Start vehicle 4, Reach destination

5. Parking of vehicle  (SSC Stenographer 2020-21)
(@ 2,3,4,1,5 (b) 2,3,1,4,5

(¢ 1,5,4,3,2 (d 2.4,1,3,5

Select the correct option that indicates the arrangement of
the given words in a logical and meaningful order.
(SSC Stenographer 2020-21)
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160.

l.  Jewellery 2 Metal

3 Sel 4. Melt

5. Polish

(@) 2.4,5,1.3 (by 2.,4,1,5.3
() 1,4.2,5.3, (d 1,5,3.,4,2

Select the option that represents the correct order of the
given words as they would appear in an English dictionary.
(SSC Stenographer 2020-21)

1.  Logical 2 Logistics
3. Longevity 4. Locust

5. Loafer

(@ 3.5.1,2.4 (by 5.,4,2,3,1
(c) 5.4.2,13 (d 5,4,1,2,3

161.

162.

Select the option that represents the correct order of the
given words as they would appear in an English dictionary.

1. Flexible 2. Flower

3. Flooring 4. Flood

5. Floater (SSC Sub-Inspector 2020-21)
(a) 1,5,3,4.2 (b) 1,5,4,3,2

(¢) 3,5,4,2,1 (d) 2,5,4,3,1

Select the correct option that indicates the arrangement of
the following words in a logical and meaningful order.

1. Scrutiny 2 Applications

3. Interview 4. Job offer

5. Joining (SSC Sub-Inspector 2020-21)
(a) 2,4.1,5.3 (b) 2,1,3,4,5

() 1,3,2,4,5 (d 3,1,5.4,2

1.

(d) Arrangement of words according to the Dictionary :
(4) Invariable
(1) Inventory
X
(5) Investigate
\)
(3) Invisible
\
(2) Involuntary

(¢) Meaningful order of the words :

3. Day — 5. Work — 1. Exhaust — 2. Night — 4. Sleep
Meaningful order of the words
C. Member — A. Family - B. Community —
D. Locality — E. Country
Arrangement of words according to Dictionary :
B. Toranto — C. Torped — E. Torsel — A. Tortoise —
D. Torus

(b)

(©)

(b) Thereisno ‘U’ letter in the given word.
©@ S HARK
Vil
(a) Descending Order
5. Lt. General
X
4. Brigadier
{
3. Colonel
\
L Major
\
2 Captain
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9.
10.

11.

12.

13.
14.
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(@)
3. Dissent
L. Dissident
4 Dissolute
5. Dissolution
2. Dissolve

(d) Thereisonlyone “E’ in the given word.

(¢) Thereisno “C’ letter in the given word. (a) option
There is no “L’ letter in the given word. (b) option
Thereisno “V” letter in the given word. (d) option
So, Terminated can be formed.

(c) Meaningful order ofthe words :

3. Chapter

d
5. Parafmph
L. Sentence
4 Phrase

\!
2. Word

(d) Arrangement of the words as per dictionary
5. Infatuation
4 Influence
2 l'ngeni;)us
L. Inhabit

\!
3 Inherit
(d) Thereisno ‘A’ letter in the given word.
(©) [STRA|N[G]ULAT
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15.

16.

17.

18.

19.

2L

24.

25.

26.

27.

28

(d
(@)
(d

(©

(@)
(©

(d

(b)
(b)

(©)

(d
©

(@)

(©)
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The correct order 1s:

Cow — Grass —» Milk — Curd — Butter

The correct order is :

Field — Grain — Rat— Snake — Eagle

TRACTOR is the word which cannot formed from the
given word as T does not comes twice in the original
word.

‘I" is not appearing in the word ‘REASONABLE’. Hence
BRAIN cannot formed from the given word.

RISPAL — SPIRAL

The correct order is : Monarchy, Monastic, Monetary,
Moneyed.

According to dictionary, order is : Bandage, Bangle,
Bank, Banquet, Bantam.
Thereisno'V' letter in the given word.

HIPPNOWADIASM
PPIHNO[WADMSAI

QMPN[PQR[ROPQNOP[PQR]

MQRO[PQR| PPRR|PQR |P

There is no 'E' letter in the given word.

XNFAPSRWLTMDEX
MGBCXQLOP[V|RC

Q[iJzousGobp[ipTs
MRABEFGNUNE

Thereis no 'K' letter.
As,

:

and,

1

o €—

i

He— 3

l

e =
M e—

=]

e
I g—tn
T &—oo
B e—m
0 €e—uw
[T €&=—tn
—S e

and,

me—"" e
W e—r Me—un
Me—wn Te—oe
T e—r P é——
P e—— O —w
& [T&—Ln
M= me—g
—-—

TEACHER

Arrangement of words as per dictionary:
2. Latch

l
4. Latitude

\)

1. Laugh
l
3. Laurels

(b)

Meaningful order of words :
l. INFANT
A
3. CHILD
A
2 AEOLESCENT

5. ADULT
\

4. OLD

30. (b) Perk>Pick>Pile> Pith > Pour

3L

32

35.

36.

37

38.

39.

41.

42.
43.

©

@)

©
(d)

©

(CY

(©
@

®)
(@)
(@

(@
(b)
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Silver jublee - 25 yr.

Golden jublee - 50 yr.

Diamond jublee - 75 yr.

Centenary - 100 yr

Millennium - 1000 yr.

Annual - 1 year Monthly - 30 days

Weekly - 7 days Biannual - 6 month

Fortnightly- 15 days.

NATION asa letter is not there in word CONTENTION.
Arrangement of words as per dictionary:
(i) Foige

(i) Forget
!

(iv) Forgive
l

(i) Forgo
l

(iv) Format
Meaningtul order of words:
(iif) Crime

(i) Police
l
(iv) J uc}ﬁ;e
(v) Ju(igemem

(i) Punishment

S P I DER

1 Ll

(V)(vi)(iv)(iii) (i) (ii)

There is no ‘K letter in the given word. So, that word
“Neck’ cannot be formed.

The correct order is:

Objection > Objective > Obligation > Oblivion >
Obscure

SIGNATURE cannot be formed as reference word
doesnot have ‘U’ alphabet.

Board — Bonus — Bound — Bunch
4 - 2 = 1 = 3

APNQ[PNOJSPTOZ[PNO|YM

Therein no'H' in the word SIGNATURE

(a) BINARY can not be formed, there isno'B' in the
word DICTIONARY

(c) NATION can not be formed, as there is only one

N'in the word DICTIONARY
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4. (a)
45. (a)
46.  (d)
47 (d)
48 (d)
49. (a)
50.

51.

52,

53.

54. (a)
55. (¢)
56. (d)
57. (¢)

(d) ADDITION can not be formed, as there is only
one'D' in the word DICTIONARY

Seed — Plant — Flower — Fruit

3 51 - 4 52

There is no ‘R’ letter in the given word. Therefore, the

word POINTER cannot be formed.

Thereisno ‘R’ letter in the given word. Therefore, the

word DOCTOR cannot be formed.

Thereis no A’ letter in the given word. Therefore, the

word CANCEL cannot be formed.

Meaningful order of the words in ascending order :

5. Sensation

2 Perception
l

4. Assimilation
3 Scheme Formation
1 Accommodation

I\;leaningfu] order of the words in ascending order :
4, Lithfsph ere

L. Hydiosphere
3. Bi othere
w

2 Atmosphere

(d) There is only one ‘E” in the given word but there are

two Es in the word TEASE.

(d) Thereisno ‘D’ letter in the given word. Therefore, the

word TENDER cannot be formed.

(b) There is no ‘N’ letter in given word. Therefore, the

word LANCER cannot be formed.

(d) Meaningful order :
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3. Requirements Analysis
2. Conoezma] Modelling
4. Logical Modelling

\)
6. Schema Refinement
5. Physir.:fl Model

1. Implementation

“TALENT” can not be formed from the given word
CONSTITUTIONAL as there is no ‘E’ letter in the
given word.
‘MASTER’ can not be formed as thereisno “E’ letter in
the given word.

‘NATION’ can not be formed as there is only one *N”in
the given word SEGREGATION.
1234567891011121314
COMMUNICATIONS
After rearrangement

OCMMUCITAD[SIT
4

10th from right

58. (d)
59. (c)
60. (d)
61. (b)
(©)
(@)
4. (o)
65. (c)
66. (d)
67. (c)
68. (c)
69. (a)
70. (b)
71. (c)
(©)
©
74.  (b)
75. (b)
76. (d)
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STIGMA cannot be formed using word TNVESTIGATION'
because letter M is not in the given reference word.
NOTION cannot be formed because two Os are not in
the reference word.
READ cannot be fomed as letter D is not in the reference
word.
There i1s no'A’ letter in the given word. Therefore, the
word GENERATE cannot be formed.
There is no '"T" letter in the given word. Therefore, the
word QUAINT cannot be formed.
Meaningful order is :
Infant — Childhood — Adolescent — Adult — Old age
(5) ) 3) (D ()
Meaningful order is :
Son — Brother — Husband — Father — Grandfather
(1) 4) 2) (5) ()
Dictionary order :
Command — Commerce — Commit — Conceive
(1) (6) @ )
— Conduct — Connect
(5) 3)
'SENSES' can not be formed using the letters of the
given word MISAPPREHENSION, as there are only
two'S' in the word.
'PETROL' can not be formed as there is no 'R' in the
given word 'CONCEPTUALIZATION'.
By options,
(a) can not be formed as there is no “E’ in the given
word.
(b) can not be formed as there is no ‘D’ in the given
word.
can not be formed as thereisno ‘E” and only *U’
in the given word.
ALERT can not be formed as there isno ‘R”in the word
LEGALIZATION. Hence, (a) is the correct choice.
There is no 'K' in the word DEPARTMENT.
Alphabet — Word — Phrase — Sentence
) “ (D (3)
Cow — Milk — Curd — Butter Milk — Butter — Ghee
@ @ @O 0 ® (3
Listening— Speaking — Reading — Writing
@) () G
Infancy— Childhood — Adolescence —» Adulthood
2) 3) (4) 0
There is no “u”in the word INFLATIONARY.

(d)

2. Town

3. Street

5. Complex
4. Building

1. Apantment
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7.

78.

85.

9L

93.

95.

(b) Arrangement in Reverse dictionary order—

Expulse —» Express—» Explosion— Exploit
1 2 3 e

¢ 4 05 312

RERER

M OT H E R

(d) DRUK cannot be formed using TRIVAN DROM as it
does not contain letter 'K'".

(d) Home, only one meaningful word is formed.

(d) MERCY cannot be formed from the given word
CUMBERSOME, as there isno “Y "’ in the word.

(a) Only “S’ can be prefixed to the given words.
New words are:
STILL, STABLE, SPILE, STAB, SPRING
(c) Meaningful word is:

UNSCRAMB L E
39 428 1051 76
(c) Codedword: Z B Y X M N QB

A A
Key: st r a i g h-Ht

(c) Meaningful Order:
Mosquito — Cat — Tiger — Elephant — Whale
(3) @ @ (1 &)
(¢c) Meaningful order is:
Community — School — Classroom — Desk — Drawer
) 3) (D @ (5)
(a) Meaningful order is :
Mine — Ore — Process — Gold — Ornaments
@ 3 3) (D 2)
(b) (a) Tablehasbeen formed from Bleat.
(b) Stoves has been formed from Votes, & has been
added
(c) Brush has been formed from Shrub.
(d) Steam has been formed from Meats.
(b) Arrangement according to dictionary
Feather — Feature — Feed head — Feminine
(2) (4) (3) &)

— Fenestration

(d) Meaningful order is :

Rain — Rivulet — Tributary — River — Sea
(6) O] 3) (4) (3)
— Ocean
(2)
(d) Minister cannot be formed as there isno'e' in the word
'ADMINISTRATION'.
(b) Hearty cannot be formed as they is no 'y' in the word
'CHARACTER.
(c) Required sequence would be

NMW[VMNMVWNMNMMN]W[V MN]
Hence, This sequence occurs three times.

(a) These all are the colours of the rainbow. Hence
meaningful orderis VIBGY OR.

(b) Force — Forecast — Foreign — Forget — Forsook

96. (a)

97. (c)
(CY

9. (d)

100. (a)
10L. (a)

102. (c)

103. (d)

104. (b)

105. (d)

106. (c)
107. (d)
108. (c)

110. (b)
11 (c)
112. (d)
113. (¢)

114. (b)
115. (d)

116. (b)

117. (b)
118. (c)

119. (a)

120. (d)
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Words as per order in dictionary
Nautical > Naval > Navigate > Necessary
So, correctorderis 3,4,2,1

Rain > Range > Ranger > Rein

So correct orderis2, 1,4, 3

HISTORY

6742153
SUPERFLUOU 8§

Ist 4th Tth 11th

So, possible word with S, E,L,SisLES S
Asia — India — Karnatka — Bangalore

Word GARBAGE cannot be formed as requires two
As.
ENDREARMENT,
Word TENDER can be formed
Order of progresseon in hardware is
Vacuum tube — Transistor — Integrated circuits
—» Silicon Chips.
The words can be arranged in following order in
dictionary :
Voluntary —> Voracious — Vortex —> Voucher
@O 3) @)
So, correct order i5 4,1,3,2
Abiogenesis —> Abrasive —> Absolute —>
) 2) (1)
Absorption —> Abundance
3) (4)
So, correct order is5,2,1,3.4
There isno V"’ letter in the given word.
Meaningful word = HIPPOPOTAMUS
Words in reverse order :
Ordeum — Odium — Odious — Occulist
(1) 2) EIG)
LATHPEEN — ELEPHANT
ZLARID — LIZARD
FEFEOC — COFFEE
TAR — RAT
Hence, coffee is not animal.
HAKE >HALE>HALT > HAM > HAMLOT
DIGGING cannot be formed from the given word.
Infant becomes Child and goes to Schoel than grows
up to Youth and goes to College ie, 2,3, 4,5, 1
Revision is the word which cannot be formed from
letters of REJUVENATION as, S is not in it.
Zeal, Zebra, Zest, Zinc, Zygote.
Thereisno L in concentration .. CENTRAL will not be
Formed
Words arranged as per order in the Dictionary, Directed,
Directing, Direction, Director.
DISMISS cannot be make from ADMISSION
Arrangement as per Dictionary rules is 3, 2, 1, 5, 4
i.e Ambiguity, Ambiguous, Ambitions, Animal Animation
CANCEL cannot be Form from
INTELLIGENCE
Words' Dictionary Order :
(1 (2) (3) (4)
Extinct —» Extol — Extort —» Extra

(b) (@ (@ (©
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121. (b) Dictionary Order :
Degrade — Density — Deterioration — Determination
(1 (2) 3) 4

122. (b) Arrangement in a Dictionary Order :

Ambidextrous — Ambiguous —
(1) (2 (3
— Amorphous — Amphibian
(@) )
(a) Summit can not be formed as there isno'i' in the
word Measurement.
(b) Assure can not be formed as there is only 's' in
the word Measurement.
(d) Mantle can not be formed as there is no'l' in the
word Measurement.
124. (d) Meaningfulword: P R E ST DENT
Numerical Position: 6 3 7 91 4 8 2 5
3. Concept — 4. Plan — 1. Estimate — 2. Contract
— 5. Execute
'Rampant' cannot be formed by using given word.
'Organise' cannot be formed.
AFGHAN, INDEFINITLY, SYNOPSIS, STUPENDOUS,
BURST, HJACKER.
Meaningful order of the words in
ascending order:

4. Road
!
3. Roasted
!
5. Roller
!
1. Ropped
!

2. Roster

123. (c)

125. (c)
126. (d)
127. (d)
128. (c)

129. (d)

130. (d) Fullness as a lettter is not there in word

suspense fulness.

Arranging the words according to

dictionary.

Pastel — Pebble — Postal — Pragmatic — Protect.
So answer is 35412.

Bane cannot be formed using Herringbone

as it does not contain letter 'A'".

133. (¢) Arrangement of words according to Dictionary :

4. Balance
{
2. Balanced

131 (b)

132 (¢)

5. Balancing
1

1. Ball
!

3. Balls
So, answer is 42513.
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134. (a)

135. (c)
136. (b)

137. (c)

138. (d)

139. (¢)

140. (d)

141. (b)

142. (c)

www.jkchrome.com

ANNUITY is the word which cannot be formed from
letters of 'UNIFORMITY" as, Ais not in it.

'E' is not appearing in the word 'Biological'. Hence Globe
cannot formed from the given word.

According to dictionary order,

Treacherous ® Tread ® Treadmill ® Treason.

(1) () €) (4)

Meaningful order of words :
4. Market
1
3. Vegetable
1
l.  Cutting
1
5. Cooking
1
2. Dish

Transmit cannot be formed as there is no'M' in the
word TRANSLATION'".
Arrangement of words according to the Dictionary.

1. Ale
\A

2. Align
\A

5. Alpine
\A

3. Amend
A

4. Anatomy

Arrangement of words according to the Dictionary.

1. Den
!

4. Desk
!

5. Doom

2. Dragon
\

3. Drop

Stop cannot be formed as there is no 'P' in the word
'Instructor’.
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143.
144. (b)

145.

146.
147.

148.

149.

150.

151.

152.

(b)

(©

(b)
(b)
(@)
(©
(b)
(b)

©
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Court cannot be formed as there is no 'T" in the word
'Encourage’.

According to dictionary,

Dimple will appear fourth position.

Arrangement of the words as per dictionary

2. slam
A
5. slate
\
4. sledge
A
1. slowly
{
3. slump
According to dictionary.

Bonkers will a appear second position.

According to dictionary,

Hermitage will appear last position.

Sunday cannot be formed as there isno'S' in the word
'FUNDAMENTALY".

Britain cannot be formed as there isno'A" in the word
'DISTRIBUTION'.

The meaningful order is great Pyramid, Giza, Egypt,
Africa, World.

If we see our hand then, top most part of hand is
connected to shoulder, then our elbow, then our wrist,
then our palm then our fingers then our nails.

Logical meaningful order of the given word is: Spring
(March to May),

Summer (June to August),

Monsoon (July to September);

153.

154.

155.

156.
157.

158.

159.

160.

161.

162.

(b)

(a)
(a)

(b)
(©)

(b)

(b)
(d)
(b)
(b)

www.jkchrome.com

Autumn (September to November)
Winter (December to February)
Hence, Logical order is:
Spring, Summer, Monsoon, Autumn, Winter.
The correct meaningful order is :
Pain— Hospital— Diagnosis - Treatment— Recovery
(3) (5) (1) @ (2
Righteous — Rightly — Rights — Rigidly— Rigour
(€) (1 (&) () 4)
Logical and meaningful sequence of words is,
5 - Face
6 -Neck
1 - Shoulder
4 - Chest
3 - Stomach
2 - Thigh
So we get the sequence (5, 6, 1,4, 3, 2)
4,5,3,1,2,6
Indent, Index, Indolent, Indoor, Industry,
(2) (5) (4) 3) 1)
Meaning order
=unlock vehicle, start vehicle, drive vehicle,
Reach distination, Parking of vehicle
Meaningful order :
Metal, Melt, Jewellery, Polish, sell
Correct order = Loafer, Locust, Logical, Logistics,
Longevity
Correct sequence of the word as they appear in english
dictionaryare in theorder 1, 5, 4, 3, 2.
Logical and Meaningful order of the given words are:
Applications, Scrutiny, Interview, Job offer, Joining

() (M 3) @ 06
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